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Chọn D
Gọi 
[image: image320.wmf]zabi

=+

, 
[image: image321.wmf],

ab

Î

¡

. 
[image: image322.wmf](

)

(

)

(

)

(

)

(

)

(

)

1213212132

iziziiabiiabii

++-=+Û+++--=+



[image: image323.wmf](

)

(

)

(

)

(

)

22132

ababiabbaii

Û-+++--+=+



[image: image324.wmf]3213

2

ab

b

-=

ì

Û

í

-=

î



 EMBED Equation.DSMT4 [image: image325.wmf]3

32

2

a

zi

b

=

ì

ÛÞ=-

í

=-

î

.
Vậy có một số phức thỏa mãn yêu cầu bài toán.

Câu 34:
Tính thể tích của khối lập phương 
[image: image326.wmf].’’’’

ABCDABCD

 biết
[image: image327.wmf]’2

ADa

=

.
A. 
[image: image328.wmf]3

8

=

Va

.
B. 
[image: image329.wmf]3

22

=

Va

.
C. 
[image: image330.wmf]3

=

Va

.
D. 
[image: image331.wmf]3

22

3

=

Va

.
Hướng dẫn giải

Chọn B
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